TH2FERBRT =R L FHIAKEGR

1BE
A7'RYY B7°RyY
1EF | EmEm | #es Bm | BELE 5 BHEE| RELB |, ua am | 8 BAHE
1 8F 3-0 3-0 2—1 3-0 5 BIREE 2—1 2-1 3-0
i) 0-—3 0—3 2—1 1-2 AELE 1-2 1-2 0-—3
s 0-3 3-0 2—1 3-0 ﬂfg/%fm 1-2 2-1 0-3
= 1-2 1-2 1-2 2—1 8 HWAf 0—3 3-0 3-0
Eipdt¥ 0—3 2—1 0—3 1-2
c7'Av) D7'RyY
4 #E BF TEBRMER | PEFE— 3 MAmE MK $#Hx EFR¥
4 B85 3-0 3-0 2—1 3 s 3-0 3-0 2—1
BF 0—-3 3-0 1-2 [N 0—3 1-2 2—1
TERRAE SR 0—-3 0—3 0—-3 FHx 0—3 2—1 3-0
PEE— 1-2 2—1 3—0 EFRR¥E 1—-2 1-2 0—3
E7'my) F7'nyy
6 FHE | =Mt | BAR | 7 =8 2 wad | TUSTE| mesk | mnm | S8H%T
6 _TEIfA 3-0 2—1 3-0 2 #al 3-0 3-0 1—-2 3-0
= 0-3 1-2 0-3 éa(aglzﬁg& 0-3 0-3 0-3 0-3
HAR 1-2 2—1 1-2 B RE 0-3 3-0 0-—3 2—1
7 =] 0—3 3—-0 2—1 EE 2—1 3-0 3—-0 2—1
FHELF 0-3 3-0 1-2 1-2
288 REEI—T RS
H7'ByY 2F
=RS BiHEE B (H7'RYH143L) ¥
B 3-0 | 2-1 aam [ 2
BiHEE 0-3 1-2 (17'my91451)
#7199 1-2 2-1
SRLRTEEK
17°'0y% A1EA
BEMER B Bam (H7'my)2451) A
V)i 0-3 2-1 REHE 2—1
TEE 3-0 0-3 (1I7'myh24i1)
MAw 1-2 3-0
B B EFeR
B BAEER
3 I AHER

T EIE SR




